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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination.  
December, 2011 

(APPLICATION ORIENTED COURSE) 
ACC-1 : ORGANIZING CHILD CARE SERVICES 

Time : 3 hours 	 Maximum Marks : 100 

Note : Question No. 1 is compulsory. Answer any four other 
questions. 

1. 	(a) Given below is a list of activities. For each, 	10 
state the area of development in which the 
activity primarily fosters development. The 
first one has been done for you as an 
example. 

Activity 	Area of development 

(e.g.) Threading 	Fine motor development 

beads 

(i) Role play. 

(ii) Playing on the swings. 

(iii) Conversing with friends. 

(iv) Arranging three circles from the 
biggest to the smallest. 

(v) Paper folding. 
(vi) Matching flowers. 
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(vii) Singing rhymes. 

(viii) Running down a slope. 

(ix) Making structures with blocks. 

(x) Making a collage as a group (four 
children in a group). 

(b) Differentiate between the following (attempt 
any five) : 	 5x4=20 

(i) Free play and structured play. 

(ii) Gross motor development and fine 
motor development. 

(iii) Stranger anxiety and separation 
anxiety. 

(iv) Biological and environmental factors 
influencing -development. 

(v) Food group and balanced meal. 

(vi) Seriation and classification. 

(c) Answer any two of the following : 	2x5=10 
(i) Why is it important for the preschool 

educator to be educated and trained 
in the area of ECCE ? 

(ii) Why should the development of pre-
reading and pre-writing skills be 
fostered before teaching the child 
reading and writing. 

(iii) Why are infancy and early childhood 
years considered to be very 
significant ? 
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2. (a) Briefly describe any five behaviours of a two-
year old child which indicate that the child 
is a thinking and intelligent being. 	5x2=10 

(b) Describe two ways/activities through which 	5 
a caregiver can foster the cognitive 
development of a three-year -old child. 

3. (a) "Empathy and prosocial behaviour in pre-  10 
schoolers is learnt in the family setting". Do 
you agree with this statement ? Give 
reasons in support of your answer. 

(b) Describe two ways/activities through which 	5 
initiative can be nurtured in a preschool 
setting. 

4. (a) What are the aspects that the preschool 10 
educator should keep in mind when 
planning the schedule of activities for the 
children ? Explain giving examples. 

(b) Explain the importance of including music 	5 
related activities in the schedule of activities 
for young children. 

5. "Play should be the medium of teaching-learning 15 
in the early childhood years". Do you agree with 
this statement ? Clarify the play-way approach 
to early childhood education with the help of 
examples. 
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6. 	(a) Explain how the child develops the concept 10 
of gender during the early childhood years. 

(b) Should the caregivers promote sex-role 	5 
stereotyping in children ? Give reasons for 
your answer. 

	

7. 	Explain why : 
	 3x5=15 

(a) Preschool 	education 	should 	be 
child-centered ? 

(b) Should the educator nurture children's 
creativity ? 

(c) Firm and affectionate parenting is the most 
suitable child rearing practice ? 

	

8. 	Write short notes (about 250 words each) on any 
two of the following : 	 2x71/2=15 
(a) Need and ways of involving the family and 

community in the activities of the ECCE 
centre. 

(b) Buying toys and play materials for children. 

(c) Evaluating educators working in an ECCE 
centre. 

(d) Common speech problems in children. 
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